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COLOUR�  1st band�  2nd band�  3rd band�  Multiplier   Tolerance�
Silver� �� �� �� x 0.01� 10%�

Gold� �� �� �� x 0.1� 5%�

Black� 0� 0� 0� x 1� ��

Brown� 1� 1� 1� x 10� 1%�

Red� 2� 2� 2� x 100� 2%�

Orange� 3� 3� 3� x 1000� ��

Yellow� 4� 4� 4� x 10000� ��

Green� 5� 5� 5� x 100000� 0.5%�

Blue� 6� 6� 6� x 1000000� ��

Violet� 7� 7� 7� �� ��

Grey� 8� 8� 8� �� ��

White� 9� 9� 9� �� ��

--None--� -� -� -� �� 20%�

�

1st band
2nd band

2nd band
3rd band

1st band

Multiplier
Tolerance

Multiplier
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COLOUR�  1st band�  2nd band�  3rd band�  Multiplier   Tolerance�
Silver� �� �� �� x 0.01� 10%�

Gold� �� �� �� x 0.1� 5%�

Black� 0� 0� 0� x 1� ��

Brown� 1� 1� 1� x 10� 1%�

Red� 2� 2� 2� x 100� 2%�

Orange� 3� 3� 3� x 1000� ��

Yellow� 4� 4� 4� x 10000� ��

Green� 5� 5� 5� x 100000� 0.5%�

Blue� 6� 6� 6� x 1000000� ��

Violet� 7� 7� 7� �� ��

Grey� 8� 8� 8� �� ��

White� 9� 9� 9� �� ��

--None--� -� -� -� �� 20%�

�

Left resistor:

yellow – violet – orange – gold
4 – 7 – 3 zeros, 5% tolerance

47000 � = 47 k�
Real value between 44650 � and 49350 �

(47 k� ± 5%)

Right resistor (one more band)
precision resistor: tolerance 2%
brown – green – yellow – orange 
1 – 5 – 4 – 3 zeros, 2% tolerance
154000 � = 154 k� = 0.154 M�

Real value between 150.9 K� and 157.1 K�
(154 k� ± 2%).
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